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The Cosmological Argument
Terminology:
agnostic
- one who is unsure whether God exists

Aristotle
- (384-322BC) Greek philosopher, scientist and writer, pupil of Plato and personal tutor to King Alexander the Great
atheist
- one who believes that there is no God
cosmos
- the universe

first cause argument
= the cosmological argument
Georges Lemaître 
- (1894-1966) Catholic priest from Belgium, physicist, astronomer, mathematician, creator of the Big Bang theory
infinite regression
- going back in time forever with no beginning

Prime Mover
- an intelligent being who starts off the chain of causes in the universe

samsara
- the cycle of birth, life, death and rebirth
theist
- one who believes in the existence of a God

Thomas Aquinas
- (1225-1274) Dominican friar from Italy, philosopher, saint, writer, creator of just war theory
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Aristotle:
i. Everything in the cosmos exists because it was caused by something else.

ii. That cause was caused by another something else before it.

1. In a modern example (not used by Aristotle), a building is caused by builders putting bricks together with mortar and window glass and tiles.  The bricks are caused by clay being fired in a kiln.  The clay is caused by plant material interacting with rocks and water.  Some of the rocks are caused by volcanic activity which is caused by super-high temperature lava in the middle of the planet which is caused by atoms being drawn together by gravity ultimately, as a consequence of the Big Bang.

iii. The cosmos is a giant chain of causes going back in time a very long way.

iv. [image: image3.jpg]


It is not possible to have infinite regression; there must be a beginning point to the universe.

v. At the beginning there must be an unmoved mover who begins the whole process.

vi. This being is called the Prime Mover, a superbeing outside of time or physical space who is pure and perfect and has enormous intellect.

vii. These ideas put together are called the cosmological argument.
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B. Christians (and other theists, e.g. Muslims): 
Agree because:
1) St Thomas Aquinas: 
a) Took Aristotle’s ideas and explained the Prime Mover as the God of the Bible.
b) Wrote about it in his book series, Summa Theologica.

2) Modern Christians:

i) The universe has a cause.

ii) The Big Bang is the cause of the universe.

iii) The Big Bang must have a cause.

iv) Modern science has no explanation for what was before the Big Bang.

v) God must be the cause of the Big Bang.

b) The man who first came up with the Big Bang theory was Georges Lemaître, a Catholic priest, who obviously thought it was possible to believe both in the Big Bang and God’s existence. 
c) God is outside of time & space and so does not need a cause in the way that physical things do.


C. Atheists and some agnostics: 

Disagree because:
1) Why does there need to be a start point?  Infinite regression might be true.
2) If everything has a cause what caused God?
3) The Big Bang and evolution can explain the universe and life without mentioning God. 
D. Buddhists:

Disagree because:
1) Buddha taught that there is no point in trying to work out how the world began because we cannot know.

2) Buddha taught samsara which is a seemingly endless cycle of birth, life, death and rebirth.  This gives the impression of a never-ending cycle so there is no beginning to the universe.
3) All things come into existence when the necessary conditions are there.  Therefore, things happen by themselves with no god.

4) Buddhists do not believe in a creator and do not worship any god.

E. Strengths & Weaknesses
Theme C: Existence of God & Revelation
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